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1. Simplify   the   following   expression:         (x )  2 + 3 2 − 9  

 

 

2. Simplify   the   following   expression:      x ) (x )  ( − 7 − 5 + 3 2 − 8  

 

 

3. Solve   the   following   equa�on:      (x )  2 − 2 − 9 = (2x )− 1 2  

For   ques�ons   4-6   use   the   graph   below: 

 

4. Write   an   equa�on   for   the   func�on. 

 

5. What   are   the   x-intercepts   of   the   graph   of   the   func�on? 
 

 

6. When   will   the   equa�on   equal   zero? 
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7. Describe   how   you   could   find   the   vertex   of   the   func�on. 


